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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? m kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 165.50 1.00 100.00 1.00 17.45 3.26 16.05 3.00
2 3 166.66 1.00 100.00 1.00 17.45 3.26 16.05 3.00
3 4 166.66 1.00 100.00 1.00 17.07 3.19 16.05 3.00
4 5 166.35 1.00 100.00 1.00 16.36 3.06 16.05 3.00
5 6 154.98 1.00 100.00 1.00 - - 16.05 3.00
6 7 154.98 1.00 100.00 1.00 - - 16.05 3.00
7 8 157.76 1.00 100.00 1.00 17.42 3.25 16.05 3.00
8 9 170.39 1.00 100.00 1.00 17.42 3.25 16.05 3.00
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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? m kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 - - 67.57 1.00 - - 9.04 1.69
2 3 - - 92.79 1.00 - - 9.04 1.69
3 4 - - 100.00 1.00 - - 13.69 2.56
4 5 157.53 1.00 100.00 1.00 - - 13.69 2.56
5 6 163.24 1.00 100.00 1.00 - - 16.05 3.00
6 7 170.70 1.00 100.00 1.00 16.23 3.03 16.05 3.00
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